

(5, 1, 4)

Subject:

Year: Month: Day: ()

page: ()

$$g(x) = (r \tan x)(1 + \tan^2 x) - \sqrt{r} \sin x \quad f(\tan^2 x + \sqrt{r} \cos x)$$

$$g'\left(\frac{r}{r}\right) = (r \times r - 1) f'(1+1) \quad \sqrt{r} = r f'(r) \quad f'(r) = \frac{\sqrt{r}}{r}$$

$$5 \quad f(x) = r g(x) = \frac{1 + \cos^2 x}{r - \cos^2 x} - \frac{r}{r - \cos^2 x} = \frac{1 + \cos^2 x - 1 - r \cos^2 x}{r - \cos^2 x} = -\cos^2 x$$

$$f'(x) = r g'(x) = \sin x \quad f'\left(\frac{\sqrt{r}}{4}\right) = r g'\left(\frac{\sqrt{r}}{4}\right) = \sin\left(\frac{\sqrt{r}}{4}\right) = -\frac{1}{r}$$

$$10 \quad x > \frac{r}{r} \rightarrow f(x) = (r x - r) \sqrt{a x} \rightarrow f'(x) = r \sqrt{a x} f'\left(\frac{r}{r}\right) = r \sqrt{\frac{r a}{r}} = r \sqrt{a}$$

$$x < \frac{r}{r} \rightarrow f(x) = (-r x + r) \sqrt{a x} \rightarrow f'(x) = -r \sqrt{a x} f'\left(\frac{r}{r}\right) = -\sqrt{\frac{r a}{r}} = -\sqrt{a}$$

$$f'\left(\frac{r}{r}\right) = f'\left(\frac{r}{r}\right) = \sqrt{r a} \quad r \sqrt{r a} = r \sqrt{4} \quad r \sqrt{r a} = \sqrt{4}$$

$$r a = 4 \quad a = \frac{4}{r}$$

$$y = -a x + r \quad f(r) = -r a + r \quad f'(r) = -a - r a + r - a = -1$$

$$a = \frac{r}{\omega} \quad f'(r) = -a = -\frac{r}{\omega}$$

$$20 \quad \forall y - x = \omega \rightarrow y = \frac{\omega + \omega}{2} \quad \frac{a x - 1}{r x + 1} = \frac{x + \omega}{2} \quad \forall a x - 1 = r x + 1 + \omega x$$

$$r x^2 + (4 - \omega a) x + 1 = 0 \quad a = 0 \rightarrow r \omega^2 + 19 a^2 - 19 \omega a - 19 = 0$$

$$(4 - \omega a)(4 - \omega a) = 0 \quad a = \frac{4}{\omega} \rightarrow r \omega^2 + 19 a^2 + 19 = 0$$

$$25 \quad a = r \rightarrow r \omega^2 - 19 a^2 + 19 = 0$$

$$f(x) = 0 \rightarrow 1 + x^p - b = 0 \quad f'(x) = 0 \quad f'(a) = p a^{p-1} a$$

$$1 + a = 0 \quad a = -1 \rightarrow b = -14 \quad b - a = -14 - (-1) = -13$$

$$x = \frac{\sqrt{y} + 1}{\sqrt{y} - 1} \quad \sqrt{y} = \frac{x+1}{x-1} \rightarrow y = \left(\frac{x+1}{x-1} \right)^2 y' \left(\frac{x+1}{x-1} \right) \left(\frac{-2}{(x-1)^2} \right)$$

$$f'(x) = x^p \times (1 - x^p) = -13$$

$$f(-1) = -1a + 1 \quad f(a) = 1 \quad \frac{f(a) - f(-1)}{a - (-1)} = -11$$

$$1 - (-1a + 1) = -11 \quad 1a - 0 = -11 \quad a = -\frac{1}{p}$$

$$f'(x) = p \left(x^{p+1} \right)^p \times \left(-\frac{1}{p} x + 1 \right) (x^{p+1})^{p-1} \left(-\frac{1}{p} \right)$$

$$f'(x) = (p \times x^p \times p \times \frac{1}{p}) \times \left(1 - \frac{1}{p} \right) = 13 - p = 1$$